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FYIFLVE R
EFYhyb ¢75 {& 9
FYIFLVER L
mZF—X @ 75x% ¢ 50 & 1 0078 x 1 = 0078
GF 7.5K L
PERELOM TSV SHETEE ¢ 75 LE 2 0730 X 2 = 1460
PVZaA Lk ¢75 {& 3
FYIFLVER L
PEHEL O3y 7MLt g1 F ¢75 P 2 0765 X 2 = 1530
7.5K L
KERT V81 IS F ¢ 75 P 0240 x =
7.5K
BEZERF ¢ 25 P 2
FCD&! Ln—= RS E#MA GF 7.5K
F -V EREESF ¢ 75 % 150H = 2
¢ 75RF-GF3& A
ITSUOMFH RTUVAAHA R wb #H 2
¢ 75-GFRzh Rk
IS5V OMFM SUS304BN*-7.5K #H 2
*rOXFE
TUFRABE JWWA B 110 " 2
SRAEH: H=100
TUHFRLY VYA {& 2
L+ TFEBEE H=150
EUFAVY VR YR JWWA K 148 & 2
JEER (M) H=40
EUFALY VR YR JWWA K 148 & 2
ERFABKE JWWA B 132 & 2
TSR L EREE H=200
Ly vik'yh R JWWA B 148 {& 2
TSR hERBE H=100
Ly vik'yh R JWWA B 148 {& 2
TSR TEBEE H=200
Ly vik'yh R JWWA B 148 {& 2
TSR JEER(MR) H=40
Ly vik'yh R JWWA K 148 {& 2
BEEEERE HPPE@YTS5 = 397.326
AT R BB R EEER
RBEHER)—T ¢75 m 5245 397326 x {60 x (1 + 01) + 501 = 524470
100m4 L)
REHER) —TRT—7 m 202.6 397326 x 510 <+ 100 = 2026
¢ 75 ERER THF ZERFTFE)
%qﬂﬂﬁﬁ'—f W=50 m 394.3 397326 — 1530 - 1.460 = 394.336
TEHIER THF ZERFTFE)
HERAEA Y W=150 2fF 7LIAY | m 393.7 396686 — 1530 - 1.460 = 393.696
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HPPE BEckEfRRT BEFTES

RS Y 0.70m NO. 2
E R
L& - FERTE iy % 8 1w =
[FERT]
A HPPE
FVIFLVERMAT 75 m 3958 397.326 - 1530 = 395.796 {+Y1FIER
[EA 2R
EFifFET ¢ 75 O 126 64 + 62 = 126
O#F) vk
EFftF T @75 T 9 9 = 9
ERT
TSUDHMFT ¢75 A 2 4 - 2 = 2
FUIFLVE PV
MZHVEFT ¢ 75 A 6 6 = 6
ERNS
FYIFLVEYIET @75 A 35 35 = 35
HUHHET ¢75 P~ 2 2 2
ERRAREL ¢ 25 P 2 2 2
rOXFE
TUFASKERMGT JWWA B 110 BT 2
TtU#HA SRAEH: H=100
LY U yhAB T 1& 2
TtU#HA L+ TFEBEE H=150
LY Uk AR T JWWA K 148 & 2
TtU#HA JEER(MR) H=40
LY Uk ARSI JWWA K 148 & 2
ERARABESEMAT JWWA B 132 BT 2
TSR L EREE H=200
LY Uiy AR+ T JWWA B 148 & 2
TSR hERBE H=100
LY Uik AR+ T JWWA B 148 & 2
TSR TEBEE H=200
LY Uik AR+ T JWWA B 148 & 2
TSR JEER(MR) H=40
LY Uik AR+ T JWWA K 148 & 2
BEHEA)—JHET ¢ 75 m 397.3
FHHRT-7T @75 m 394.3
EHARY-PT W=150 2fF 7LIAY | m 393.7
HREE
BKERET IR EER m 398.1 397.326 + 0.770 = 398.096
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HPPE Ec/KEMERI HEHES
EfE-0%: HPPE® 75mm FRIELR :1=397.326m
mEREH 4 :0.70m NO, 2
EH R
] £ 2 i # & B =
FE [£T]
HiEAs
+T®-3 ¢ 75 H=0.70m m 167.7 584 + 1040 + 53 = 167.7 BRerRsEE
HiEAs
+I3-4 ¢ 75 H=1.10m m 33 3.3 = 33  BRuRsEE
aVH— R
T IT@-1 ¢ 75 H=0.70m m 120.0 19.4 762 + 244 = 1200 mmEREEE
aVH— R
+I@-2 ¢ 75 H=1.10m m 12.3 3.2 32 + 59 = 123  BReRsEE
HiEAs
TI@-2 ¢ 75 H=0.70m m 98.7 98.7 = 987
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HEREMRT HEFHES

EFE-OF: BEEE HPPE ¢50 L=0.77m VLP25A #iZRIEK:L=2.38m
et £48Y:0.70m NO. 2
B R
T £ ERTZE By # & H =
FEHH
[HEE]
NEEEEZLSA=25 MR &Y
VLP 25A m 2.38 083 + 155 = 238
a7 FETILR 25A X 90° & 6 3 + 3 = 6
7545 25A & 2 1 + 1 = 2
&8I0 ¢ 50 % 25 & 1 1 = 1
GF 7.5k
EFO5V D ¢ 50 & 1 0.16 = 1
7.5K
KERAT V24V TIR ¢ 50 = 1 0.34 = 1
M
EFF—X $50x P25 & 0.27
BEEEZER  VLP25A = 2380
HPPE50 = 0.770
TTIEELY
HHARY-b W=150 21% m 3.40
FOKFE
HTUIFRA%E JWWA B 110 " 1
SREH: H=100
HEOFALY UK YA & 1
L+ TFEREE H=150
HUIFRAVY UE YR JWWA K 148 & 1
JEEB (FR2) H=40
HUIFRAVY VE YR JWWA K 148 & 1
BBMER)—D ¢ 50 m 0.8
50
EART-7 W=50 m 0.4 0770 - 0.340 = 043
TTIEELY
BEHATRY-b W=150 21% m 3.40
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HEREMRT HEFHES

hEk st £#Y:0.70m NO.
B R
TiZ £ ERTZE By 5 &
FE [$ERT]
MEMBT ¢ 25 m 24
Fiih=al Ll ¢ 25 m] 7
b
MERLTY ¢ 25 [m} 12 12 12
b
RLAAHHEFT ¢ 25 [m} 12 12 12
RYIFLVERAMA T 50 m 0.4 0770 - 0.340 0.43
HTUIHEET ¢ 50 = 1 1 1
ISVCHMFET @50 [Elzi 2
a9 —HEIFLT ¢ 258 [Elz0 1
FOKFE
U FRAKEREMGT JWWA B 110 5513 1
TR SREH: H=100
LY Uk vy REA T & 1
tU#H L+ TFEREE H=150
LY Uk vy REA T JWWA K 148 & 1
TR JEEB (FR2) H=40
LY Uk v REA T JWWA K 148 & 1
2BEfHER)—JT 50 m 0.8
50
HHART-7T W=50 m 0.4
EERY-PT W=150 2f& m 34
[+1]
Hi#EAs
+T@4 ¢ 50 H=0.70m m 2.6 17+ 09 2.6
Hi#EAs
+T@-5 ¢ 50 H=0.70m m 0.8 05 + 03 0.8
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HPPE ¢ 75mm ¥ B &

EE-EE

7V-vIvh

g
i
>
g;lllH

HPPE ¢ 75 50 m/XK
No. | B&# RARE b i
1 GEZ 3.869 0.129
2 | GE 2.200 1.800
3 | GE 0.370 2.236
4 | HE 3.224 0.414
5 HEZ 1.124 0.152
6 HEZ 0.774 0.122
7 HER 0.046
8 | HE 0774  0.774 0.054
9 HEZ 1.024 0.622
10 | HE 0.774 1.024 0.224
11 | HE 0.416 0.774 0.086
12 | HE 0.774 0.502
13 | HE 1.324 2.042
14 | HE 1.000 1.396
15 | HE 0.734 1.000 0.737
g 23.501 m 35 0 LR

i %




No. 2 - @3 ®4 @-1 @2 @2 D4 @5
HPPEEE K & 7752 =EE L “HE L “HE L “HE L “HE L “HE L “HE L
167.7 =& L 3.3 -@EL [1200 -@EE L | 2.3 -=mE&E L | 98.7 =& L 26 =L L 08 =L L
% T B % FitBE
ASTRE R )
SHEUMT  |[t=15cmuF m|  2.000  335.40 2.00 6. 60 2.00  197.40 2.00 5. 20 2.00 1.60 546. 20 550
AsTRE R )
SHERBBR T |t=10cmLl T m2|  0.55 92.24 0.55 1.82 0.55 54. 29 0.55 1.43 0.55 0.44 59. 26 90. 96 91
CoFRE R )
SHEUMT  |[t=15cmF m 2.00  240.00 2.00 24. 60 264. 60 260
CoFRE R )
SHERBBRT |t=15cmbl T m2 0.55 66. 00 0.55 6.77 45. 85 26. 92 27
BHO. 28m3 )
WWEET  |MEt m3|  0.51 85. 53 0.62 2.05 0.38 45. 60 0. 60 7.38 0.41 40. 47 0.39 1.01 0.39 0.31 88.55 93. 80 90
BHO. 28m3 )
BHIERET  |FAER m3|  0.26 43. 60 0.15 0.50 0.15 18.00 0.15 1.85 0.15 14. 81 0.14 0.36 0.28 0.22 40. 30 39. 04 40
BHO. 28m3 )
BHERET R4t m3|  0.14]  23.48 0.36 1.19 0.11 13.20 0.33 4.06 0.14 13.82 0.14 0.36 26. 42 29. 69 30
(RC-30) )
BEET t=17cm m2
(RC-40) )
BEET t=15cm m2
(RC-30) )
TEHBBI  |t=10cm m2|  0.55 92.24 0.55 1.82 0.55 66. 00 0.55 6.77 0.55 54. 29 0.55 1.43 0.55 0.44 222.99 223
(RN=30) )
TEBBT |t12m m2|  0.55 92.24 0.55 1.82 0.55 54. 29 0.55 1.43 0.55 0.44 150. 22 150
(RN=30)
TEBBT |t=17cm m2 0.55 66. 00 0.55 6.77 72.71 73
BAEZH As13mm )
BERSEE  |t=3cm m2|  0.55 92.24 0.55 1.82 0.55 66. 00 0.55 6.77 0.55 54. 29 0.55 1.43 0.55 0.44 222.99 223
)
avy)— T [t=10cm m2
BIMAT )
(£8) 4tDT m3|  0.35 58. 70 0.22 0.73 0.26 31.20 0.23 2.83 0.25 24. 68 0.23 0.60 0.39 0.31 119.05 120
BIMAT )
(AS) 4tDT m3|  0.03 5.03 0.03 0.10 0.03 2.96 0.03 0.08 0.03 0.02 8.19 8
ZFAE )
A S t| 0.07 11.74 0.07 0.23 0.07 6.91 0.07 0.18 0.07 0.06 19.12 19.1
BIMAT )
(co) 4tDT m3 0.06 7.20 0.06 0.74 7.94 8
ZFAE )
coz t 0.14 16. 80 0.14 1.72 18.52 18.5
)
BysEavhy-k  [N18-8-BB40 m3 0.28 0.22 0.22 0.2
)
B S CoR! 3 m2 0.92 0.92 0.9




No.2 3-3 3-4 @-1 @-2
HPPEEE K & 7752
£ i i 1’ B EEBE
INERE 5 303.3mMD 5> 5 ( )
190m X /= 20. 63
As&ZE M ) )
BB T |t=10cml T m2, 58. 11 .15 59. 26 59
CofhiZE M ( )
BRI T |t=15cmL T m2, 41.58 4.217 45. 85 46
BHO. 13m3 ( )
HHRIET E+ m3 53. 88 .29 28.73 4. 65 88.55 90
BHO. 13m3 ( )
HHIERT BAER m3 27.47 .32 11. 34 1.17 40. 30 40
BHO. 13m3 ( )
HHIERT FHET m3 14.79 .15 8.32 2.56 26.42 30
( )
( )
NEHE
(RC-30) ( )
TERET t=10cm m3 5. 81 .11 4.16 0.43 10. 51
(RM-30) ( )
LTERET t=12cm m3 6.97 .14 71.11
(RM-30)
LTERET t=17cm m3 1.07 0.73 7.80 30
BAZH As13m ( )
HRE{REIR t=3cm m3 1.74 .03 1.25 0.13 3.15 3
( )
BiasT ( )
() EA IMER m3 36.98 .46 19. 66 1.78 58. 88 60
BitosT ( )
(AS) EA IMER m3 3.17 .06 3.23 3
( )
BiosT ( )
(co) EA IMER m3 4.54 0.47 5.01 5
BAL ( )
(BER) A MEHE t 27.47 .32 11. 34 1.17 40. 30 40
( )




B S  =

HPPE ¢ 75 L= 167.70

= 167.70

Brig5 B = 1 1.3-3 ifrifiAs

R = 0090 X 009 X x / = 0.006
2 BB X X / = 0.000
Im24

% 7 & i LA =
AULECIT T
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BULEIS AR T
AsEGTEER t=10cmd 1.00 X 0.55 = m2 0.55
S/
B A BEE A 1.00 X 055 X 094 — 0.006 m3 0.51
PR
SN AR 1.00 X 0.55 X 0.49 — 0.006 m3 0.26
PR
SN FEAE A 1.00 X 0.55 X 0.25 m3 0.14
FE AT (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
_L/E AR T (RM=30)
t=12cm 1.00 X 0.55 = m2 0.55
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.55 = m2 0.55
FETH T EHI+ WAL
HAA 142 0.51 —( 0.14 +— 0.90 )= m3 0.35
FETH T
FHAS TR/ 1.00 X 0.55 X 0.05 = m3 0.03
RAE
TAT77 /bR 0.03 X 235 = t 0.07




g5 = HPPE ¢75 L= 3.30 = 330 m
gy = 4 1.(39-4 ifiiBAs
R = 0090 X 009 X x / = 0.006
2 BB X X / = 0.000
Im24

% 7 & i LA =
AULECIT T
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BULEIS AR T
AsEGTEER t=10cmd 1.00 X 0.55 = m2 0.55
S/
B A BEE A 1.00 X 0.55 X 1.14 — 0.006 = m3 0.62
PR
SN AR 1.00 X 0.55 X 0.29 — 0.006 = m3 0.15
PR
SN FEAE A 1.00 X 0.55 X 0.65 = m3 0.36
FE AT (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
_L/E AR T (RM=30)
t=12cm 1.00 X 0.55 = m2 0.55
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.55 = m2 0.55
FETH T EHI+ WAL
HAA 142 0.62 —( 0.36 +— 0.90 )= m3 0.22
FETH T
FHAS TR/ 1.00 X 0.55 X 0.05 = m3 0.03
RAE
TAT77 /bR 0.03 X 235 = t 0.07




BE S =

HPPE ¢ 75 L= 120.00

= 120.00

BB = T @-1 2 0)—pEHE CoflEre I

AR = 0090 X 009 X x / 4 = 0.006
B = X X oz /4 = 0000
Im24

% 7 & i LA =
ARG
Cof#Elk t=15cmEL T 1.00 X 2 = m 2.00
BRI T
CoZ#Ek t=10cmEl T 1.00 X 0.55 = m2 0.55
S/
B A BEE A 1.00 X 0.55 X 0.69 — 0.006 m3 0.38
PR
SN AR 1.00 X 0.55 X 0.29 — 0.006 m3 0.15
PR
SN FEAE A 1.00 X 0.55 X 0.20 m3 0.11
FE AT (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
_L/E AR T (RM=30)
t=17cm 1.00 X 0.55 = m2 0.55
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.55 = m2 0.55
LA T EHI+ WAL
HAA 142 0.38 —( 0.11 =+ 0.90 )= m3 0.26
FEL T
FEAS T} 1.00 X 0.55 X 0.10 = m3 0.06
ZAZ
20 —Pi% 0.06 X 235 = t 0.14




BE S =

HPPE ¢ 75 L= 1230

= 12.30

BB = T @-2 20— pEHE CodlEre I

AR = 0090 X 009 X x / 4 = 0.006
B = X X oz /4 = 0000
Im24

% 7 & i LA =
ARG
Cof#Elk t=15cmEL T 1.00 X 2 = m 2.00
BRI T
CoZ#Ek t=10cmEl T 1.00 X 0.55 = m2 0.55
S/
B A BEE A 1.00 X 0.55 X 1.09 — 0.006 m3 0.60
PR
SN AR 1.00 X 0.55 X 0.29 — 0.006 m3 0.15
PR
SN FEAE A 1.00 X 0.55 X 0.60 m3 0.33
FE AT (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
_L/E AR T (RM=30)
t=17cm 1.00 X 0.55 = m2 0.55
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.55 = m2 0.55
LA T EHI+ WAL
HAA 142 0.60 —( 0.33 =+ 0.90 )= m3 0.23
FEL T
FEAS T} 1.00 X 0.55 X 0.10 = m3 0.06
ZAZ
20 —Pi% 0.06 X 235 = t 0.14




Wrigiik 5 = HPPE ¢75 L= 9870 = 98.70 m
g By = 4 1.(D-2 ifiiBAs
R = 0090 X 009 X x / = 0.006
2 BB X X / = 0.000
Im24

% i B A LA =
ARG
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BRI T
AsEGTEER t=10cmd 1.00 X 0.55 = m2 0.55
S/
B A BEE A 1.00 X 0.55 X 0.74 = m3 0.41
PR
SN AR 1.00 X 0.55 X 0.29 — 0.006 = m3 0.15
PR
SN FEAE A 1.00 X 0.55 X 0.25 = m3 0.14
FE AT (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
_L/E AR T (RM=30)
t=12cm 1.00 X 0.55 = m2 0.55
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.55 = m2 0.55
LA T EHI+ WAL
HAA 142 0.41 —( 0.14 + 0.90 )= m3 0.25
FEL T
FHAS TR/ 1.00 X 0.55 X 0.05 = m3 0.03
ZAZ
TAT77 /bR 0.03 X 235 = t 0.07




g5 = HPPE $50 L= 2.60 = 260 m
g #y = 4 1.(D-4 ifriBEAs
B = 0060 X 0060 X x / = 0,003
2 BB X X / = 0.000
Im24

% 7 & i LA =
AULECIT T
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BULEIS AR T
AsEGTEER t=10cmd 1.00 X 0.55 = m2 0.55
S/
B A BEE A 1.00 X 0.55 X 0.71 = m3 0.39
PR
SN AR 1.00 X 0.55 X 0.26 — 0.003 = m3 0.14
PR
SN FEAE A 1.00 X 0.55 X 0.25 = m3 0.14
FE AT (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
_L/E AR T (RM=30)
t=12cm 1.00 X 0.55 = m2 0.55
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.55 = m2 0.55
FETH T EHI+ WAL
HAA 142 0.39 —( 0.14 + 0.90 )= m3 0.23
FETH T
FHAS TR/ 1.00 X 0.55 X 0.05 = m3 0.03
RAE
TAT77 /bR 0.03 X 235 = t 0.07




g5 = HPPE $50 L= 0.50 = 0.80 m
g8 = 1 T.(D-5 ifiiEAs
B = 0060 X 0060 X x = 0.003
2 BB X X = 0.000
Im24

% 7 & i LA =
AULECIT T
ASBFTLER t =15cmIL T 1.00 X 2 m 2.00
BULEIS AR T
ASBFLER ¢t =10cmidL T 1.00 X 0.55 m2 0.55
S/ A
B A BEE A 1.00 X 0.55 0.71 = m3 0.39
PR
22—k 1.00 X 0.55 0.51 — 0.003 = m3 0.28
FE AT (RC-30)
t=10cm 1.00 X 0.55 m2 0.55
_L/E AR T (RM=30)
t=12cm 1.00 X 0.55 m2 0.55
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.55 m2 0.55
T T EEIRS
HAA 142 0.39 m3 0.39
FETH T
FHAS TR/ 1.00 X 0.55 0.0 = m3 0.03
RAE
T A7 7/ P 0.03 X 2.35 t 0.07




b 75X ¢ 20
KB B EFR
A% HPPE ¢ 75



#KET

BT HEIES

oM £ Y 0.6m NO. 4
E R
T £ FERTZ By % & H =
H#
K UIFLYE (B E) 7O 7
YAt KEE d75% ¢20 = 8 8 47D 1 =
¢ 20
LEJKRRR IR FCD =R & 7 7 =
T-25 $20
Wk MR8 FCD =& 1& 1 1 =
EE H=150 ¢ 20
1K ALY vavy)—E IR ¢ 200 & 1 1 =
IR ER H=200 $20
1K ALY Vavy—E IR ¢ 200 & 1 1 =
JEEER H=40 ¢ 20
1EKAE ALY VAV - ERR ¢ 200 & 1 1 =
FE [ERT]
KUIFLVER
PKRETAHT @75% $20 & 8
FORFE
HUFRSEEMT JWWA B 110 51700 1
Ttt# A L& H=150
LY Ui yhAER T & 1
Ttt# A IR ER H=200
LY Ui y)AEA T & 1
Ttt# A JEER H=40
LY Ui y)AEA T & 1
HI 3 WRERTY
HEKEERT PEP ¢ 20 BT 8 2.1m
[£1]
PE@®50LLF
+T® H#As H=0.60m | m 6.7
PE@®50LLF
+T® Co%#i% H=0.60m | m 85
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No. 6 j ) -1 #hKE @ HHKE
ARIEAKERR SR L SEE L
6.7 “EE L 8.5 “EE L
£ i i % B B HE
As&hEhR
SHEYIMT t=15cm T m| 2.00 13. 40 13. 40 13
As&hiEhR
BRI T |t=10cmL T m2| 0.55 3.69 3.69 4
CofiZE bR
SHEYIMT t=15cm T m 2.00 17.00 17.00 17
CofiZE bR
BRI T |t=10cmL T m2 0.55 4. 68 4.68 5
BHO. 13m3
B ERYE T e+ m3| 0.32 2.14 0.29 2.47 4. 61 5
BHO. 13m3
BMERT BAER m3| 0.13 0.87 0.13 1. 11 1.98 2
BHO. 13m3
BMERT HEL m3| 0.08 0.54 0.06 0.51 1.05 1
(RC-30)
TrERET t=10cm m2| 0.55 3.69 0.55 4. 68 8.37 8
(RM-30)
LTERET t=12cm m2| 0.55 3.69 3.69 4
(RM-30)
LERET t=17cm m2 0.55 4. 68 4. 68 5
BEZH As13mm
BRE{REIR t=3cm m2| 0.55 3.69 0.55 4. 68 8.37 8
BImsT
(8 2tDT m3| 0.23 1.54 0.22 1.87 3. 41 3
BImsT
(AS) 2tDT m3| 0.03 0.20 0.20 0.2
BImsT
(co) 2tDT m3 0.06 0.51 0.51 0.5
ZAE
A S t 0.07 0.47 0.47 0.5
ZAE
CcCOo®% t 0.14 1.19 1.19 1.2




Brigi#Es = PE _FKE ¢ 50LL F L= 6.7

gt = +£1@

EHRE = 0030 X 0030 X z / 4 = 0001
2R = X X /4 = 0.000
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEELEIR t=10cmEl T 1.00 X 0.55 = m2 0.55
LT, BHO.13m3
0T A BEE - 1.00 X 0.55 X( 0.63 — 0.05 )= m3 0.32
FAEE 1. BHO. 13m3
LN D PR 1.00 X 0.55 X 0.23 — 0.001 = m3 0.13
FAEE 1. BHO. 13m3
LN A 1.00 X 0.55 X 0.15 = m3 0.08
TIESHE T (RC-530)
t=10cm 1.00 X 0.55 = m2 0.55
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.55 = m2 0.55
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.55 = m2 0.55
FELA 5T 2(DT el WAL
HEAA - 0.32 —( 0.08 = 0.90 )= m3 0.23
FEL A T 2tDT
FEA L TAT7 W EE 1.00 X 0.55 X 0.05 = m3 0.03
AL

TAT 7N 0.03 X 235 = ¢ 0.07




Brigi#Es = PE _FKE ¢ 50LL F L= 85

gt = +£1Q

EHRE = 0030 X 0030 X z / 4 = 0001
2R = X X /4 = 0.000
Im2%0

% 7 o & =
ARG T
CodB2 iR t=15emlL 1.00 X 2 = m 2.00
DR AT T
CoZH4Ek t=10cmid 1.00 X 0.55 = m2 0.55
LT, BHO.13m3
70 DI A BEET - 1.00 X 0.55 X( 0.63 — 0.10 )= m3 0.29
HH T BHO.13m3
LGRS AR 1.00 X 0.55 X 0.23 — 0.001 = m3 0.13
HH T BHO.13m3
LG T A 1.00 X 0.55 X 0.10 = m3 0.06
TIESHE T (RC-530)
t=10cm 1.00 X 0.55 = m2 0.55
_F/EEAE T (RM-30)
t=17cm 1.00 X 0.55 = m2 0.55
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.55 = m2 0.55
FELA 5T 2(DT el WAL
HEAA - 0.29 —( 0.06 + 0.90 )= m3 0.22
FEL A T 2tDT
FEAA 2 0)-PFE 1.00 X 055 X 0.10 = m3 0.06
AL

LIV-MR 0.06 X 235 = 3 0.14




FEEXVP ¢ 75mm
Bo /KBRS e



FRVP O 7TOmMmMBEDKERLT HEHEE

R EH BReE LYY 070~1.10m NO. 5
B R
T £ # FERTZE Hiy % & w =
FE (4Bt T]
BRE% WEEE
BEEHET ¢75 m 392.0 392.00 = 392.000
BEE% IvY Uhyh— BEE%
BEEYIIRT ¢75 =] 130 39200 + 3 = 130
EfRLS & @l 1| WHE 0863t 1ELY0.863t 13.8km
[£1]
TEAs
TIT®-2 BESRE WA G75 H=0.90m m 94.0 94.00 = 9400
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No. 2 -2
HREME “EE L
94.0 R L
& 2 5] #® E FEEBE
As&hZEhR
LT T t=15cmAF m 2.00 188. 00 188. 00 190
As&hZEhR
SEMRBERT  [t=10cmIU T m2 0.55 51.70 51.70 52
BHO. 28m3
BEWRIE T MEt m3 0.51 47.94 47.94 50
BHO. 28m3
HHIERT AL m3 0.41 38.54 38.54 40
(RC-30)
TRERET t=10cm m2 0.55 51.70 51.70 52
(RM-30)
LERRAET t=12cm m2 0.55 51.70 51.70 52
BEZEH As13mm
BRE{RE IR t=3cm m2 0.55 51.70 51.70 52
BIWsT
(£8) 41DT m3 0.05 4.70 4.70 5
BIWsT
(AS) 41DT m3 0.03 2.82 2.82 3
ZAE
A Sk t 0.07 6.58 6.58 6.6




g5 = VP @75 L= 94.0 = 940 m
g5 #y = 4 LA0-2 ifriBiAs BFERE
R = 0090 X 009 X x / = 0.006
B = X X z  / = 0.000
Im24

% 7 & i LA =
ARG
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BULEIS AR T
AsEGTEER t=10cmd 1.00 X 0.55 = m2 0.55
S/
B A BEE A 1.00 X 055 X 094 — 0.006 m3 0.51
PR
SN FEAE A 1.00 X 0.55 X 0.74 m3 0.41
FE AT (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
_L/E AR T (RM=30)
t=12cm 1.00 X 0.55 = m2 0.55
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.55 = m2 0.55
FETH T EI+ AT
HAA 142 0.51 —( 0.41 +— 0.90 )= m3 0.05
FETH T
FHAS TR/ 1.00 X 0.55 X 0.05 = m3 0.03
RAE
TAT 7 /bR 0.03 X 235 = t 0.07




& SUS ¢ 80mm M EF



REXEMH/RL BEFES
EHE- O SUSB0A()—R) TR HER :L=417.044m

s Y BH ~0.80m
EHiIRA
£ _# RS E Hll u &
[V)—X#t]
SUSEE 80A x 4.000 X 82 4000 x 82 = 328.000
SUSEE 80A X 2.000 P 19 2000 x 19 = 38.000
SUSEE 80A X 1.000 7 13 1000 x 13 = 13.000
SUSEE 80A x 500 7 7 0500 X 7 = 3500
SUSEE 80A x 300 7 3 0300 X 3 = 0900
SUSTLF& 80A P 24 1000 x 24 = 24.000
SUST /LR 80A x 90° & 25 0290 x 25 = 17250
SuUsosvY 80A & 1 0.160 X 1 = 0.160
R—ILNILT 80A = 1 0270 X 1 = 0270
SUSERHILEE 80A X 25A & 0150 x =
SUSHXHILREE 80A X 20A & 11 0150 X 9  + 2000 = 1.350
ZIFx 2T
SUSHE#TEE 80A & 1 x 1 =
BEREE 80A & 2 0252 X 2 = 0504
JILFTILUb 80A & 1 0110 X 1 = 0.110
BELER 80A = 417.044
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REE

EHE- O SUSB0A()—R) TR HER :L=417.044m

MR MEHEE

Rl £ . EH ~0.80m NO
B R
TiZ g __# BRTZE Hs # & /-2
FE (B T]
REEERTT 80A m 4170 417.044 = 417.044
DaAUMEFT 80A [m} 190 190 = 190
7.5K
TSUCHET 675 m] 1 1 = 1
REEE LI FERE T 80A 13 1 1 = 1
REEHET 80A m 417.0
DaAUMEFESILT 80A [m} 190
7.5K BESR AT Y4240
IS FRNLT @75 [m] 2 1 + 1 = 2
RERE Y FiET 80A m] 1
[£1]
(RE%E 7 3% B)
Hi#EAs
+TA-3 80A H=0.30m m 27.2 43 + 78 + 28 + 103 + 20 = 272
Hi#EAs
+TA4 80A H=0.70m m 1.3 13 = 13
Hi#EAs
+TIA-5 80A H=0.80m m 5.1 5.1 = 51
(R ERERH)
Hi#EAs
Hi#EAs
+TA-9 80A H=0.30m m 272 = 272
Hi#EAs
+TIA-10 80A H=0.70m m 1.3 = 13
Hi#EAs
+IA-11 80A H=0.80m m 5.1 = 51
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No. 2 A3 g A5 A9 10 A
RERIIAK E iR “EE L “EE L “EE L “EE L “EE L “EE L
77.2 __“EE L 173 -EE L 5.1 =WE L | 27.2  -WE L 173 -EE L 5.1 R L

A B & &t ZEtEE
AsEHEE IR

SEYWT  |t=15muF m| 200 5440 | 200 2.60 | 2.00 10.20 | 200 54.40 | 2.00 2.60 | 2.00 10.20 134. 40 130
AsEHEE

SHEERET  |t=10cmElF m2|  0.55 14.96 | 0.55 0.72 | 0.55 2.81 0.55 14.96 | 0.55 0.72 | 0.55 2.81 36.98 37
CofhZthR

SHEEYIME T t=15cmL F m
CofhZthR

SRR T |t=15cmlLF m2
BHO. 28m3

WHEET  |eEt m3|  0.19 517 | 0.41 0.53 | 0.46 235 | 0.19 517 | 0.41 0.5 | 0.47 2. 40 16.15 20
BHO. 28m3

WHIEET  |BER m3
BHO. 28m3

WHIEET  |REd m3|  0.14 3.81 0.36 0.47 | 0.4 200 | 0.08 218 | 0.30 0.39 | 0.35 1.79 10.73 10
(RC-30)

FEES®T  |=10cm m2|  0.55 14.96 | 0.55 0.72 | 0.55 2.81 0.55 14.96 | 0.55 0.72 | 0.55 2.81 36.98 37
(RW-30)

tEBEBT =12 m2 0.55 14.96 | 0.55 0.72 | 0.55 2.81 18. 49 18
BAZH As13mm

BEREIE  |t=3cm m2|  0.55 14.96 | 0.55 0.72 | 0.55 2.81 0.55 14.96 | 0.55 0.72 | 0.55 2.81 36.98 37

BEAST

(£5) 44T m3| 0.03 0.82 0.01 0. 01 0.10 272 | 0.08 0.10 | o0.08 0. 41 4.06 4

BEART

(AS) 44T m3|  0.03 0.82 | 0.03 0.04 | 0.03 0.15 | 0.0 0.54 | 0.0 0.03 | 0.0 0.10 1.68 2

ZAE

ASH: t| 0.07 1.90 | 0.07 0.09 | o0.07 0.36 | 0.05 1.36 | 0.05 0.07 | 0.05 0.26 4.04 4.0

BIART

(co) 44T m3

ZAE

CO®% t

Wsgavhy-k  [N18-8-40BB m3

B NS m2




g5 = SUS @75 L= 27.20 = 27.20 m
Wb e = 1 TA-3
R = 0090 X 009 X 1 / = 0.006
AR = X X z / = 0.000
Im2%0
% 7 o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsBFIERK t=10cml{ T 1.00 X 0.55 = m2 0.55
.S//N
70 DI A BEET - 1.00 X 055 X 0.34 = m3 0.19
T
LGRS T A 1.00 X 055 X 0.26 — 0.006 = m3 0.14
FEEAE T (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.55 = m2 0.55
T T eI+ WAL
HEAA - 0.19 —( 0.14 =+ 0.90 )= m3 0.03
Fe LT
FERA TAT7 IR 1.00 X 055 X 0.05 = m3 0.03
AL
TAT 7N 0.03 X 2.35 = ¢ 0.07




g5 = SUS ¢75 L= 1.30 = 1.30 m
Brigig = 1 TAA
R = 0090 X 009 X 1 / = 0.006
EEE = X X z / = 0.000
Im249
%5 B 7 H = o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsBFIERK t=10cml{ T 1.00 X 0.55 = m2 0.55
.S//N
7 A BEE - 1.00 X 055 X 0.74 = m3 0.41
R I
LGRS A 1.00 X 055 X 0.66 — 0.006 = m3 0.36
TIESHE T (RC-530)
t=10cm 1.00 X 0.55 = m2 0.55
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.55 = m2 0.55
FET AT R+ WAt
FEAS 0.41 —( 0.36 = 0.90 )= m3 0.01
FET AT
FEAL TR 1.00 X 055 X 0.05 = m3 0.03
TN
TAT 7N 0.03 X 2.35 = ¢ 0.07




g5 = SUS ¢75 L= 510 = 510 m
Mgt g = +£TA-5
R = 0090 X 009 X 1 / = 0.006
EEE = X X z / = 0.000
Im249

%5 B 7 H = o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsBFIERK t=10cml{ T 1.00 X 0.55 = m2 0.55
.S//N
b A BEE - 1.00 X 0.55 X 0.84 = m3 0.46
R I
LGRS A 1.00 X 055 X 0.76 — 0.006 = m3 0.41
FIEEAET (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.55 = m2 0.55
FET AT R+ WAt
FEAS 0.46 —( 0.41 = 0.90 )= m3 0.00
FET AT
FEAL TRAT7 N 1.00 X 055 X 0.05 = m3 0.03
TN
TAT 7N 0.03 X 2.35 = ¢ 0.07




g5 = SUS ¢ 75 L= 27.20 = 27.20 m
Brigits 7 = 4= 1TA-9
B = 0090 X 0090 X x [/ = 0.006
AR = X X z / = 0.000
Im2%0

% B 7 o & =
BT
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AR t=10cmbl 1.00 X 0.55 = m2 0.55
AL
- A B A 1.00 X 055 X 0.36 — 0.006 = m3 0.19
HEE T
SN T 1.00 X 055 X 0.14 = m3 0.08
FE AR T (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
LB EAR T (RM-50)
t=12cm 1.00 X 0.55 = m2 0.55
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.55 = m2 0.55
TR T El L A
FEAZL 1% 0.19 —( 0.08 = 0.90 )= m3 0.10
FEA AT
FEAZL TR 1.00 X 055 X 0.03 = m3 0.02
ZNE
TAT 7N 0.02 X 2.35 = ¢ 0.05




T SUS ¢ 75 L= 1.30 = 1.30 m
Wrigi£ B = 4-1TA-10
B = 0090 X 0090 X x [/ = 0.006
AR = X X z / = 0.000
Im2%0

% B 7 o & =
EHIELI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.55 = m2 0.55
S/
B E A B 1.00 X 055 X 0.76 — 0.006 = m3 0.41
HEE T
K NFEIE D TS A 1.00 X 055 X 0.54 = m3 0.30
FE AR T (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
LB EAR T (RM-50)
t=12cm 1.00 X 0.55 = m2 0.55
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.55 = m2 0.55
TR T El L A
FEAZL 1% 041 —( 0.30 = 0.90 )= m3 0.08
FEA AT
FERS TAT7 W 1.00 X 055 X 0.03 = m3 0.02
ZAE
TAT 7N 0.02 X 2.35 = ¢ 0.05




T SUS @75 L= 5.10 = 510 m
Wrigi5 B = 4 TA-11
B = 0090 X 0090 X x [/ = 0.006
AR = X X z / = 0.000
Im2%0
% B 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEELEIR t=10cmEl T 1.00 X 0.55 = m2 0.55
S/
B E A B A 1.00 X 055 X 0.86 — 0.006 = m3 0.47
HEE T
K NFEIE D TS A 1.00 X 0.55 X 0.64 = m3 0.35
FE AR T (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
LB EAR T (RM-50)
t=12cm 1.00 X 0.55 = m2 0.55
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.55 = m2 0.55
TR T El L A
HEAA - 0.47 —( 0.35 = 0.90 )= m3 0.08
FEA AT
FERS TAT7 W 1.00 X 055 X 0.03 = m3 0.02
AL
TAT 7N 0.02 X 2.35 = ¢ 0.05




X e /KB (ANE ¢ 75mm) 2 EFR



[RERHEKEMRT HEBFHES

i e e NO. 1
EHRA
T/ - BT % By % & B %
% (4B T]
MIH
RERHAKEERT GI5XPE20  HEFR 9
[£T]
(R B #A 7K & 7 5% B%)
HiEAs
+IA-6 G40LLF H=0.30m  m 9.0
(R ERAAKE B
HiEAs
+IA-12 G40LLF H=0.30m  m 9.0

-1/1-




No. 2 A-6 A-12
RERHEK E AR “EE L =HE L
9.0 R L 9.0 R L
% b7 51 % H Rt ERE
As&hZEhR )
LT T t=15cmAF m 2.00 18.00 2.00 18.00 36.00 36
As&hZEhR )
SEMRBERT  [t=10cmIU T m2 0.55 4.95 0.55 4.95 9.90 10
CofiZEhR )
UM T t=15cmAF m
CohiZEhR )
SHERRBE T |t=15cmA m2
BHO. 13m3 )
BEWRIE T MEt m3 0.15 1.35 0.16 1.44 2.79 3
BHO. 13m3 )
HHERT BAL m3
BHO. 13m3 )
HHIERT AL m3 0.11 0.99 0.04 0. 36 1.35 1
(RC-30) )
TRERET t=10cm m2 0.55 4.95 0.55 4.95 9.90 10
(RM-30) )
BT t=22cm m2
(RM-30) )
EEHBT  |i=12em m2 0.5  4.95 4.95 5
BEZEH As13mm )
BRE{REIR t=3cm m2 0.55 4.95 0.55 4.95 9.90 10
BIWnsT )
(£8) 2tDT m3 0.03 0.27 0.12 1.08 1.35 1
BIsT )
(AS) 2tDT m3 0.03 0.27 0.02 0.18 0.45 0.5
ZAE )
A SR t 0.07 0.63 0.05 0.45 1.08 1.1
BIWsT )
(co) 2tDT m3
ZAE )

CcCo#%




WG5S = PP ysuour L= 9.00 = 900 m
Brigi5 B = 4 LA6
R = 0030 X 0030 X 1 / = 0.00]
AR = X X z / = 0.000
Im2%0

% 7 o & =
EHIELI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsBFIERK t=10cml{ T 1.00 X 0.55 = m2 0.55
S/
- DB - - B - 1.00 X 055 X 0.28 = m3 0.15
HEE T
S NFEIE D A A 1.00 X 0.55 X 0.20 — 0.001 = m3 0.11
FE AR T (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.55 = m2 0.55
TR T El L A
FHiAB 14 0.15 —( 0.11 = 0.90 )= m3 0.03
FEA AT
FEAS TR77/ P 1.00 X 0.55 X 0.06 = m3 0.03
ZAE
TAT 7N 0.03 X 235 = ¢ 0.07




WG5S = PP gwour L= 9.00 = 9.00 m
WG4 # = 4 TA-12
B = 0030 X 0030 X =z [/ = 0.001
AR = X X z / = 0.000
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.55 = m2 0.55
S/
W A PEE A 1.00 X 0.55 X 0.30 — 0.001 = m3 0.16
HEE T
S NFEIE D A A 1.00 X 0.55 X 0.08 = m3 0.04
FE AR T (RC-30)
t=10cm 1.00 X 0.55 = m2 0.55
LB EAR T (RM-50)
t=12cm 1.00 X 0.55 = m2 0.55
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.55 = m2 0.55
TR T El L A
FHiAB 14 0.16 —( 0.04 = 0.90 )= m3 0.12
FEA AT
FEAS TR77/ P 1.00 X 0.55 X 0.03 = m3 0.02
ZAE
TAT 7N 0.02 X 2.35 = ¢ 0.05




R AR A B R



(%=1 IR 1)

SHAEA IR X

B35 B IR WEE | 2B [ aeshim T SRR U T ¥ A T EINS
TR It 18 A e g | EEAs| 2 Y — i i t=15cmEA F|  t=bcm t=4cm t=3cm [Co t=10cm +4b As t=5cm| As t=3cm Co As Co
m m m2 m2 m2 m2 m m2 m2 m2 m2 m3 m3 m3 m3 t t
GNO. 0+3. 56 1. 50
1
GNO. 1 50. 2.19 10[  109.50 55. 00 54. 50 50. 00 54. 50 55. 00 1. 10 2.73 1. 65 10. 28
1
GEP 50. 5. 42 10[ 270.75 55.00| 215.75 50.00| 215.75 55. 00 1. 10 10. 79 1. 65 29. 23
BE% Gl EAs
HNO. 0 2.03
1
HNO. 1 50. 1.81 .55 90. 25 27. 50 62. 75 50. 00 62. 75 27.50 0. 55 3. 14 0.83 9.31
1
HIP. 4 17. 1.58 .55 26. 86 9.35 17.51 17. 00 17.51 9.35 0.19 0. 88 0. 28 2.72
HIP. 4
HNO. 2 33. 1.73 .55 57. 09 18. 15 38. 94 38. 94 18.15 0. 36 1.95 0. 54 5. 86
HNO. 3 50. 1.64 .55 82. 00 27. 50 54. 50 54. 50 27.50 0. 55 2.73 0.83 8. 34
HNO. 3+16. 0 16. 1.55 .55 24. 80 8. 80 16. 00 16. 00 8. 80 0.18 0. 80 0. 26 2. 50
BERRATIECoTHE IHAs
HNO. 3+16. 0
HNO. 4 34. 2.17 .55 73.78 18.70 55. 08 18.70 55. 08 1.31 0. 56 5.51 1.32  12.94
HNO. 5 50. 2.20 .55 110. 00 27. 50 82. 50 27.50 82. 50 1.93 0.83 8.25 1.94[ 19.39
HNO. 5+42. 7 42. 2.23 .55 95. 22 23. 49 71. 74 23. 49 71. 74 1.64 0.70 7.17 1.66[ 16.86
HNO. 5+42. 7
1
HEP 5. 1.15 0.55 6. 10 2.92 3.18 5. 30 3.18 2.92 0. 06 0.16 0. 09 0. 58
-163. 89 -109. 44 -100. 65| -137.58
SFES S SFES
BEAFRIEIH  W=15cm m SEREH Welbemif il 25. 00
gt 503.46[ 279.00] 273.90| 672.45| 180.83| 353.69 173.25 71. 74 8.96 23.16 8.22 20. 93 73.73 49. 19
i 503 28m3 180 350 170 72 9 23 8 21 73.7 49.2




BRI INER
) 152 I i st RHIE | SR SReRIRE T () 78 1ALy T CNEHR)
R FER EINGE | EIRE | JEE | AEAs i FE i FE t=5cm t=4cm t=3cm |Co t=10cm| +® [As t=5cm|As t=3cm Co
m m m m m2 m2 m2 m2 m2 m2 m2 m3 m3 m3 m3
BERE2EAs
HIP. 4 1.73
HNO. 2 33.00 1.73 1.73 0.55|  57.09 18.15|  38.94 38.94 18. 15 0.36 1.95 0.54
HNO. 3 50. 00 1.55 1. 64 0.55|  82.00 27.50|  54.50 54. 50 27.50 0.55 2.73 0.83
HNO. 3+16. 0 16. 00 1. 55 1.55 0.55|  24.80 8. 80 16. 00 16. 00 8.80 0.18 0.80 0.26
WER AliZECoTH 1B As
HNO. 3+16. 0 2.17
HNO. 4 34.00 2.17 2.17 0.55 18.70|  55.08 18.70[  55.08 1.31 0.56 5.51
HNO. 5 50. 00 2.23 2.20 0.55 27.50|  82.50 27.50|  82.50 1.93 0.83 8.25
i 163. 89 100.65] 24702 109. 44 100.65[ 137.58 4.32 5. 47 3. 02 13.76
i 164 [<— 8m3 110 100 138 4 5 3 14




@ mhiAs
BERERERD

_ & R#E18

As t=bcm w

]

00{120]|30

%Y
HF
H

A

- {}D

5
1
200
|3 I

BEFHET(13)
BEMERERE RM-30
BEYLARA RC-30

@ 3>y — b
BEERERE
CotpEAEIR)

## Al I8

Co t=10cm w BEFHET(13)
( W BEMERERE RI-30
BEGBARE RC-30

@ thiEAs

_— & Al 18

As t=5cm w BETHETRY (13)
BAEMARE RI-30
BAYARE RC-30

=

8

ﬁ I P -

- —
BED g

S
(HPPEIZ 7 L 2)

8
g g
K g
f £+ =
et o
= BB <
-
BE R EE
TN FURE D W T#HY H1 H2 H3 =
@ -1 ¢75 90 550 700 690 290 200 VP75 d=0.70 #iE
@ -2 ¢75 90 550 1100 1090 290 600 VP75 d=1.10 #i%E

BR R E B E BRI — b

TIN. | FUR D ] TH#HY H1 H2 H3 s &
®-1 $100 120 550 700 970 520 250 VP$ 100 d=0.90
®-2 $100 120 550 1100 1170 320 650 VP$100 d=1.10 #ikE
®-3 #75 90 550 700 940 490 250 VP$75 d=0.90 fii%

-4 @75 90 550 1100 1140 290 650 VP75 d=1.10 #&
®)-s $50 60 550 700 910 460 250 VP$50 d=0.90 iz

mEAs
BRERE
__E Al &8
As t=5cm w BEFHETY(13)

]

OJHOLQ

BEMBERERE  RM-30
BEYARE RC-30

Al
FEL
B=
£ TN FURE D W Y H1 H2 % %
-1 ¢ 100 120 550 1100 170 970 (VP)
-2 ¢75 90 550 900 940 740 (VP)

TIN. | FUR D ] TH#HY H1 H2 H3 =
@-1 $100 120 550 700 770 320 250 (HPPE)
@D-2 #75 90 550 700 740 290 250 (HPPE)

-3 $75 90 550 1000 1040 290 550 (HPPE)
-4 | $50(25) | 60 550 700 710 260 250 (VLP)
@-5 | ¢50025 | 60 550 700 710 | 510(#&HE LCO) (VLP)




5470

547Q

AEHKELT

As t=5cm

@ thiEAs

_ 1 R#E18

550

| st @
BED 8l o

;I.:

mREm s — b
PP@50LLF
TN | Y H Hi H2 H3
@ 600 630 580 230 150
@ avy)— s
_ B EEE
Co t=10cm 550 e
Bk
BEY
| £
=
—
S
=l
B | st E
BED 8l
5
PP 25LLF

£+ TNo. Ty H H1 H2 H3

® 600 630 | 530 | 230 | 100

1E5KES ¢ d BOXE ) 1Eokie ¢ d BOXET)
i PERY v b (A% ) Y RLASKIE X od PERY 4y b (H D)
1 ERTE (5 2) PERSMEKISA Y 7 v b ¢d
R Y 7 b pd REROPO S
BH&I7 pdEEtL
gl =
M= BEERAAIKE VP (VLP) ¢d” -
- H
r ol
o iy M= BEEEKE VPOLP) ¢d
5 f g W
LEFF!I/I«?szde‘r =&
PP(Zf@%E) PP(Zf@%E)
$d L= ¢d L= XMEICIE CTPETLRZEE £
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